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˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ ²ÌöìÙÀîû þ›)”Åôyöìlîû !löì˜Å¢†þÐ 

þ›î û#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

 1. Answer any five of the following: 2×5=10 

  öë ö†þyöìly þ›„y‹þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) Mention two objectives of Public Administration. 

    ?l²Ì¢y¤l ¢yöìßfîû ˜%!Øþ ’þzöìj¢Ä ’þzöìÍÔ‡ †þöìîûyÐ 

   (b) Identify two key differences between ‘Line Agency’ and ‘Staff Agency’. 

    ò¡y¥zl ~öì?!ªó ~î‚ òÞØþyæþ ~öì?!ªîûó ôöì™Ä %̃!Øþ þ›yíÅ†þÄ !‹þ!¥«•þ †þöìîûyÐ 

   (c) Define New Public Administration. 

    lëûy ?l²Ì¢y¤l ö†þ ¤‚Kþy!ëû•þ †þöìîûyÐ 

   (d) Identify any two principles laid down by Fayol. 

    öæþëû¡éŸé~îû ˜%öìØþy l#!•þ !‹þ!¥«•þ †þöìîûyÐ 

   (e) Mention two principles of scientific management. 

    ÷îKþy!l†þ îÄîßiyþ›lyîû %̃!Øþ l#!•þîû ’þzöìÍÔ‡ †þöìîûyÐ 

   (f) What do you mean by the principle of ‘Span of Control’? 

    ò!lëûsföì”îû þ›!îû!™ l#!•þó î¡öì•þ •%þ!ô †þ# öîyöìVþyÚ 

   (g) Write the full form of ‘POSDCORB’? 

    ‘POSDCORB’éŸé~îû þ›%öìîûy lyô †þ#Ú 

   (h) What is functional foremanship? 

    Functional foremanship î¡öì•þ †þ# öîyöìVþyÚ 

 2. Answer any four questions from the following: 5×4=20 

  öë ö†þyöìly ‹þyîû!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) Identify the stages of growth of Public Administration as a seperate discipline. 

    ßº•þsf ¢yßf !¥öì¤öìî ?l²Ì¢y¤l ¢yöìßfîû !îî•Åþöìlîû !î!èþ§¬ þ›ëÅyëû=!¡ !îî,•þ †þöìîûyÐ 
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   (b) Discuss the advantages of Decentralisation. 

    !îöì†þw#†þîûöì”îû ¤%!î™y=!¡ xyöì¡y‹þly †þöìîûyÐ 

   (c) How does Henri Fayol indentify planning in his theory? 

    ö¥l!îû öæþëû¡ •„þyîû •þöì_́ þ›!îû†þÒly xöìíÅ †þ# î%!VþöìëûöìSélÚ 

   (d) What did Simon mean by ‘bounded rationality’? 

    ò¤#ôyîm* öëï!_«†þ•þyó î¡öì•þ ¤y¥zôl †þ# î%!VþöìëûöìSélÚ 

   (e) What did weber mean by ‘legal-rational authority’? 

    Göìëûîyîû ‘legal-rational’ †þ•,Åþ_´ î¡öì•þ †þ# î%!VþöìëûöìSélÚ 

   (f) Discuss the different stages of decision making of H. Simon’s theory. 

    ¤y¥zôöìlîû •þöì_́ !¤m*yhsý ²Ì”ëûöìlîû !î!èþ§¬ hßìîû=!¡ xyöì¡y‹þly †þöìîûyÐ 

 3. Answer any one question from the following: 10×1=10 

  öë ö†þyöìly ~†þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) Write a critical note on the ‘human relations approach’ as enunciated by Elton Mayo. 

    Elton MayoéŸéîû òôyl!î†þ ¤Á›†Åþ •þ_´ó ¤ôyöì¡y‹þly¤¥ ö¡öì‡yÐ 

   (b) Critically examine F. W. Taylor’s scientific management theory. 

    F. W. Taylor éŸé~îû ÷îKþy!l†þ þ›!îû‹þy¡l •þ_́!Øþ ¤ôyöì¡y‹þly¤¥ xyöì¡y‹þly †þöìîûyÐ 

_________ 


